943 Register No.: [

November 2022

(Maximum Marks: 100)

[N.B. 1. Answer all questions in PART A. Each question carries one mark.
2. Answer any ten questions in PART B. Each question carries two
marks.
3. Answer all questions in PART-C by selecting either A or B. Each
question carries fifteen marks. (7+8)]

PART - A

1. Write down the formula for centre and radius of the circle
x2+y2+2gx+2fy+c=0.
2. Show that i — 2] — 4k and 37— 6] — 12k are parallel.

3.  What is the value of f% dx.

4. Evaluate: flz -‘iﬁ

5. Find the area bounded by the curve y=f(x), the x-axis and the ordinates
x=a and x=b.
PART - B
6. Find the equation of the circle with centre (0,-3) and radius 2 units.

7. Find the equation of the circle concentric with x? + y2 —4x —6y—9 =0
and passing through the point (-4,-5).

8. What is the condition for the conic ax?+2hxy+by®+2gx+2fy+c=0
represents a pair of straight lines.

9. If the vectors 27— 3] and 67 — mj are collinear, find the value of m.
10. If |d|=2, |b|=3 and |d x b|=7, find the angle between @ and b

11. Find the work done by the force 7 —7j — 2k when the displacement is
3T — 57— 4k .
12. Evaluate: [ cos® xdx.

13. Evaluate: [ cot xdx.

dx
49+x2

14. Evaluate: [
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15, Evaluate: [ xlogxdx.
16. Evaluate: [ x? e¥dy,

17. Evaluate: f“' 71;7 dx
- X

18. Find the area bounded by the curve yox’ +X
and x=4,

and the y-axls between x=(

d 54#0,
13. Find the integrating factor of the differential equation ‘.‘f+yco g

2
20. go|ye: L4y dx
1"'}"' X

PART = C

21. 1. Find the equation of the circle having center (2,-1) and pd
Al through the point (8,7).

ssing

h the origin and

ii. Find the ing throug
equation of the circle passing 2_gy+1220 and

cuts orthogonally each of the circles x2+y
x2+y?-4x-6y-3=0,
(or)

B) i. Find the equation of the ellipse with focus (-1,-3) and directrix

x-2y=0 and e=4/5,

ii. Find the value of ‘a’ such that the second degree equation
ax?-10xy+12y?+5x-16y-3=0 represents a pair of straight lines.

22. i. Pprove that the points whose position vectors 27+ 3j+ 4k,
Al 37 — 4] — 2k, 47+ 2] + 3k form an equilateral triangle.

ii. Show that the points given by the position vectors i-2f-k,
21+ 37 + 3k, and =71 + 5k are collinear.

(or)

B) i. Prove that the vectors i+2j+k, i+j—3k and 7?—4]-75‘ are
perpendicular to each other.

i. Find the torque of the force 37+ 4/ +k acting through the point
i —2j + 3k about the point 47— 3] + k..
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A)
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A)

B)

25.

A)

B)
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L 44
i.

ce
I,

-3~

Evalute: (i)f (tanx + cotx)?dx (i)f /(1 + sin2x)dx

Evalute: (i) es"**sin2xdx  (il)f (2x? — 8x + 5)' (x — 2)dx

(or)

Evaluate: (i)[ cos3xdx (ii)ffs—"fnl-_—l?-:dx.
-x

d dx

T X v
Evaluate: (')f (2x+3)2+49 (")f (x+1)2-9

Evaluate: (i) x"logxdx (ii)x3sinxdx

Evaluate: (i) x?cos2xdx (ii)[ x3e *dx
(or)

Evaluate:(i)[ xZsindxdx(ii) [ x2e5%dx

sinx
sinx+cosx

Evaluate:?

Find the volume of the sphere of radius ‘a’ units.

Solve: x\/1 —y2dx+yv1—x2dy =0
(or)

solve: (1+¢e*) cosy dy + e*siny dx = 0

d , ,
solve: 2cosx =~ + hysinx = sin2 x
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[©f0u1. ueH- o el o srer Simargg eflamasendhghn sloiwefldoa.
S|METEG) sflemé g Emn o wdlCusiraar Qumun. (5 X 1 = 5)
2. ugdH- Qb 6flsb 2 _siTen GoHmIn UGy sSleoTIT &> 85 (6T 5B aflemLwefl oo,
S| MTHG CSleTSHSEHD Lo LdliQusirser Qupun. (10 x 2 = 20)
3. UGS -@ulsd = eier eauGourm  aflemallgs 9 (NG P

mﬂsumésc.s@és@ eflsmLwefl &@ay. oImaTgg  ONITGoEHD
g wHoCustrssr Quyin. (5 X 15 = 75) (7+8)]
uGE- 9

1. X2+y22gx+2fy+c=0 et6itm o’ L S&lstr enwowd Lodmct b et (GSEMD
o DO 7LD @&5H

2. T—2]—4k wpmbd 3 -6/-12k Ay QusLissr gsTYGEAGTETL
Elsmemr ster ST (D8,

3. (L&

o dx o1 wHly smeors.

de

4, wHIEs:[

5. eusmemsusny y=f(x), X -gF& whmh x=a, x=b gy AHunmHomd ImLUGLD
u@duilear uTy TSI,

uGH-_9y,

6. eowwd (0,-3) wOHQD YD 2 YGEHT GETEIL LSSl
FLOGTUTL 60L& SIT6uoTs.

7. X24y2-4x-6y-9=0 eretrm e LGHm GuTgmLwsmsLn wpgn (-4,-5)
ystef) suflurgayh GQadad LSS FLUETUTL LS ST6s.

8.  axz#2hxy+by2+2gx+2fy+c=0  eéttm  Gwldllsr  SweTLI®  @TOL
CriGam(hamers GOLIUSDETET HUbSEm6T 6T(LHSIs.

9. 21—3] womd 6+m] eremm QabLiss @G CHIGHM IR0 Smuw
steuflsn 'm' @it WHLImUS SIS,

10. |3|=2, |B|=3 wpghd |éxb]=7 efd & upgid b-6@ BeoiulL

CaHmevuTLD &HITETITS.
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12,

13.

14.

15.

16.

17.

18.

19.

20.

~5-

T—'U_ ZESTGEJT[‘D ooy

gqs'uﬁﬁ\sme QG'U..I'G_', Gmm Guﬂﬂmrsi) ﬂ[bU®L.0

VDS, Gnedrg;,
wHINGS: [ cos2y 4

WEIAGS:[ cotxdy

wHIAs: [ 49dexZ

wAIAGE: [ xlogxdy

WALIDS: [ x2 ex gy

mélﬂﬁl@a,:fol %xzdx

y =% +x ST EUSHEELe)

BLiGuuisd 37— 5] — 4k ererfléd

. : 165G X - o&s WHmD X = = 4 i Qe Gw
266 UTULISTSmOUS Simetra;, o N ST ‘x 60

Si&e: — =
PART - C

sLETUTH Srevs.

ar T Yeosx =0 ey ST et Qgmesus G smell srems.

(27 s emuwwmsID, ©,7) asim el aufursad GEdad oL ST

o 48y H2=0 i XeyP-Ax-6y-3=0 A an Lo QEHIEGSETS

Qs Qerar@n gyHiystel aflurs Genauguwr alLdhsr sosrun®

STETTS.

(@)

i, @aflwd (-1,-3), QuaEasmy X-2y=0 Lpmi e = g Qaeor Bemeul L Sgsir

Fuesrur(y STeTs.

i, ax2—10xy+12y245x-16y-3=0 ersimy suLID HE QoL CrpiCarbamensd

GMEED safld ‘a’ s wHiy snems.
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2+ 3] + 4K, 37— 47 — 2k wpgid 47+ 2] + 3k gyl How QausLismens
QamsrL. ustellast Q@ suLGS WECETEISME SDUGHED ar S1ILE6.

CT-2f-k2i+37+3K uwpgh -7T+5k ofu Hon  QuéLjemmé

Qensor ustaflesT QmECHM_mwsust s &M 6.

(=)
[+2/+k , T+j-3Kk uwpgh 7i-47-k opflu  GesLiseT
eamsOeram Qengss ar sm[Hs.

J+4/+k egd eflews T—27+3k eemn HoaGasli sl
@sweduiger 41— 3j + kK ereimy HoonQusLi  ustaflow  QUTGSE)
Sjsuallensuflsr HEiyHmener srevms.

- wHLABS: () f (tanx + cotx)?dx (i) [ /(1 + sin2x)dx

wHINDS: () eSin**sin2xdx (i)f(2x? — 8x + 5)1*(x — 2)dx
(=)

wHORS: ()f cos3xdx (i) (‘S/ig‘__?z); dx

. d "
wHIIEe:() [ m @if z;:%

wHuN@e: ()f xMlogxdx  (i)f x3sinxdx

wHINES:() [ x2cos2xdx - (i)f x3e~*dx
(=)

wHidGs: ()f x2sindxdx(i)f x*e>*dx

F14 .
wHiips: J? Sl

0 sinx+cosx
ST ‘2’ gjeme) GETeL GHTTSIGT SHemmeneus Smeues.

&i&6: xJ1—y*dx+yvl—x2dy=0.
()
gise: (1+€9 cosy dy + e’siny dx = 0.

L) d ‘ .
Biiéro: 2cosxd—i + 4ysinx = sin2 x.
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